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Which of the following was not a Cherokee family clan?

D. Covote

Babies were born into their clan

C. mother's

Which of the following is NOT true?

A. Women never participated in watr.

The Great Pyramid at Giza is one of the world's most amazing
landmarks. Rising high above the Sahara Desert in the Giza region of
northern Egypt,

- -1- Where is the Great Pyramid NOT located?

D. Southern Egypt

- 2- The Pyramid was of engineering.

B. a wonderful accomplishment

-3- The Great Pyramid was built in

A. avery hot area
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Why is this species named Loggerhead Sea Turtle?

C. It has a large head.

What shape are scutes?

A. hexagonal




- Which of the following is not part of the turtle's shell?
D. tail
- The Loggerhead Sea Turtle is in length.

B. three and a half feet
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. Which of the following sentences does NOT have a capitalization
mistake?

A. Mr. Anwar is an Enaglish teacher at King Faisal University.

2. Which is the irrelevant sentence in the following paragraph?

| go shopping with my family every Friday. We go to a mall near our
house. We usually buy meat, vegetables, juice and milk. We never buy
junk food. Meat is very expensive these days.

D. Meat is very expensive these days.

3. What'’s the best way to combine the following two sentences?
(1) I went to Mecca by bus.

(2) My friend Ahmad went by bus, too.

A. My friend Ahmad and | went to Mecca by bus.

“i can’t speak french. | can’t speak japanese”

b. | can’t speak french or japanese.

2. What is the correct order of the following sentences?
1. First, i brush my teeth and wash my face.

2. Every day i wake up at 5:00 in the morning.

3. After that, i have a big breakfast.

4. Then i leave for work at 6:30 a.m.

b.2.1.3 4

3. Choose the word/words that best fits/fit in the blank space:
Ahmad has a small bedroom. He a big bedroom.

a. Does not have

G gl

- Choose the best substitute for the underlined words. If the sentence is
correct, choose “Make no change.”

I’m not hungry; moreover, | cannot eat anything now.

B. as aresult



fWhich sentence is irrelevant to the following topic sentence
Topic sentence: "It is interesting to visit foreign countries.”

D. You can find hotels on the internet.

Which of the following sentences contains a compound subject and a
compound verb?..
D. Leila and her sister live and work in Dammam

Which two sentences have the same meaning

(1) You should do your best, or you will not pass the xams.

(2) You should do your best, but you will not pass the exams.

(3) You should do your best; otherwise, you will not pass the exams.
(4) You should do your best; therefore, you will not pass the exams
A. Sentences 1 and 3
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